(8)

{fi Give an assessment of the Government
policy towards foreign investment. 10

et RvarR crae e A o
SR SR |

{g} Point out the various shortcomings of
the monetary policy of India. Suggest
some remedial measures. 6+4=10

TRes TN Rfew srpfRerie sgfemiy i
SPRAPTAR AR A3 fogar sRme i |

fh) Explain the causes of low productivity
of Indian agriculture. Give some
suggestions to increase agricultural
productivity. 6+4=10

oS FRT A Beowe FRPIR IO 90|
R Teomaer By I Rgwm s
fam )

iy Discuss the role of public sector
industries in the economic development

of India. 10
wqed g Tmee qeedl 99¥ SR
SR S %511 |

{i/ What is agrarian structure? Qutline the
agrarian structure of India. 4+6=10
FRS S &2 SHeR RS Mg s
IS 41 |
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ECONOMICS

Paper : ECO-HC-6016
( Indian Economy—II )
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Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer any ten from the following questions :

1x10=10
S 2R [ e wRb s o
fa) Mention one objective of Indian fiscal
policy.
SIS G AT BT Sgwen Teay 41|
(b) What is repo rate of the RBI?
SREH fias RFT @’ @ &2
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fc)

(d)

(e)

(g)

)

)

i
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(2)

State one direct instrument of Indian
monetary policy.
TSI JHNST 51 ey SR T F0

What is meant by financial inclusion™
8y TEEIT T & I AW ?

Give the meaning of ‘Foreign Direct
Investment’.

orgrm LTINS RS w1 Bt )

What is capital formation in
agriculture?

e o oo R 2

Give the meaning of ‘minimum support
price’ of agricultural produce.

Fiwre TRAA fEe ST 'Y =Y o

State one reason for the growth of
service sector in India recently.

Aol SRS SRed GRS REr™ <1 F9
TE 90U

What is agricultural productivity?
FRT SespmAterel &2

Mention one method of public sector
disinvestment.

e Red R o1 afdm S S

( Continued )

(k)

)

(m)

n

(o)

(3)

Define the concept of ‘sustainable
agriculture’,

T AT ¥RIRER e R

What is diversification of industries?

Bz R 37

State one main objective of the
Minimum Wages Act, 1948 by the
Indian Government.

S38Y TS OO THICY RS 91 fagew Tgfe
GIZAT BT o S BoE 90

What kind of manufacturers are called
small-scale industries?

& QR T waged Soae @ @R
7

Define monetary policy.
e e A

2. Answer any five from the following questions

in brief :

oS il e R canet HAivbie oy Seg fiar

(a)

22A/852

Distinguish between fiscal deficit and
primary deficit.

ey Ot wF Afis Wb T A
g 211

{ Turn Qver )
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(b}

(c)

(d)

(e}
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(4)

Write two characteristics of small-scale
industries.

5 TR BT CafEr o

Write two merits of GST.
GST 3 71 Ry forn o

What is démonetization? Mention one
positive effect of demonetization in the
Indian economy.

e 57 ol weTifes Rymerd @bl
e Ao BTEY 4 |

Write any two measures undertaken
by the Government of India to improve
agricultural marketing.

IR TE@ INTR T A TS TR T
T4 7 e 151 oo for |

Tertiary sector in India employs two
different kinds of people. Who are
they?

oot CRreE 71 Rt w1 e foamt
FE | (SSERF (I ?

{ Continued )

(S5)

{g) Mention two objectives of the Naticnal
Competition Policy of India.

wed A8 afwfenEe Mfew B TewD
Ty 790

(h) State any two problems of Public Sector
Enterprise of India.

TSy &L 997 TR R A o P

BrE T4
3. Answer any four from the following
questions : 5x4=20
wore it 2 R e siRbre Tae fian

{a) Explain any five instruments of fiscal
policy in India.
ooy ey AR /oo s =z
AR S

(b} Discuss the tools of monetary policy
of India.

TS JEANR SZTE I A |

(¢ Explain the initiatives taken by the
Government to ensure that farmers get
remunerative prices for their produce.

e (o et AR BT 1
fafverae oIy SIRIT (A1 ACOEPTR. AT
|
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(6)

(d) Point out the various labour policies
of India.

SRR e = Mooz wnglmrz far

fe} Workers are exploited in the
unorganized sector. Do you agree with
this view? Give reasons in support of
your answer.

)
Prafee 167 WRER o1fe =) PR @3
SR 2% AT (PR T el Iy
fieam 1

(7 What is agricultural mechanization?
Explain the role of technology in Indian
agriculture.

IR AT B2 @S R R
T T T )

fg) Discuss the role of small-scale
industries in Indian economy.

TSy weie wa T it e
0

fh) Point out the main features of Indian
tax system.

SRS $9 INER T AMBpIR el fam )

{ Continued }

(7))

4. Answer any jfour from the following
questions : 10%x4=40

e firl spemRd R G s T fin

(@)

(b)

{c)

(@)

(e)
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Critically discuss the role of agriculture
in the economy of India. 10

TS wdAiee $RT S SMREAmAETFe
ST 4 |

Discuss the problems and remedies of
small-scale industries of India. 5+5=10
SRS FE CCUNPER WP HF SINEE
GARPTR SRAG 4T |

What is service sector? Analyze the

performance of service sector of India
during post 1990’s. 2+8=10

crEge 32 Sevo vR Pige SRey CRMS
FREFT S Roma 7

Explain the role of foreign investment
in the economy of India. 10

SReE Wi e Riomse siiw
!

Give an outline of the various
macroeconomic policies of India. 10

s f[ifen it aftafes W eo@e
HICATE TS F1 |
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